Section 7.10 The Graph of y = log,(x)

S(x)4
4 2(x) = log,(x)
3 x) = log (x)
2
- hi(x) log, (x)
1 -
(10, 1)

Graphs of logs are the inverse of graphs of exponential functions.

y = log,x

All pass through (1, 0). logany pase 1 =0

All pass through (a, 1) , log;2 = log.e = log;010 =1
All graphs of log functions are increasing.

All tend towards the negative y-axis but never reach it.
The larger the base number ‘a’, the flatter the curve.

y = log,(0) 1s not defined.



Comparing log,(x) with y = a*
If we let @ = 2 ;comparing vy = 2* and
v = log,(x), we have

The points (0,1),(1,2),(2.4),(3.8),(4,16), ... arc on the curve y = 2%,
The points (1,0),(2,1),(4,2),(8,3),(16,4), ... arc on the curve y = log,(x).

y = log,(x) is the inverse function of y = 2%,
Also, v = log,,x is the inverse function of y = 10*,

The graphs of vy = 2 and y = log,(x) reflect in the line x = y.
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